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1. make profit

™

. out of fashion

w

. put on the market

'S

. inferior products

5. 2 decimal coinage
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11. An economist is someone who

and used.
A. knowing

C. knew

time.
A. last

C. first

better values.
A. amount

C. injury

. Nowadays industry has persuaded us that its products can only

. Modern mass-production methods lower the

= AR AFNIE AL (35 30 &)

a lot about how goods and wealth are produced
( )
B. knows
D. knowable
a very short
( )
B. final
D. extreme
of making goods,and thus give us
( )
B. hurt

D. cost
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14, First of all, the on a can or package of food must be completely truthful. A sit B. take
: ( ) C. depend D. ride
A title B. label 22. When do people  whether or not they want to become friends? ( )
C. name D. epithet A. hesitate B. pause
15. It is commonly that only rich middle-aged businessmen suffer from stress. C. decide D. stop
( y | 23. You may have noticed that the average person does not give his _ attention to
A. distrusted B dotibted someone he has just met. ( )
C. suspected D. believed A. partition B. shared
16. Stress can kill you if you don’t notice the warning s ( ) C. sorted D. undivided
A. signals B. signable 24, The most obvious purpose of advertising isto _ the consumer of available prod-
C. mark D. indicate ucts or services. ( )
17. Britain the world in industrial production for a long time. ( ) A. inform B. accuse
A. followed B. led C. betray D. cheat
C. learned from D. conducted 25. In specific cases the relationship between imputs and‘output both in time and
18. How does the computer the stripes? ( ) internationally. ( )
A. interpret B. know A. follow B. varies
C. indicated D. marked C. same D. make
19. When Primitive people began to wear clothing regularly, they had to it from the (Z)iEZEH (15 52)
materials at hand. . ( ) HERREREREM AT
A. study B. use 26. During their first four minutes together, people can decide or not they want to
C. make D. know become friends. ( )
20. Everyone knows that taxation is _in a modern state. ( ) A. whether B. if
A. necessary B. useless C. thus ~ D.although
C. needless D. unnecessary 27. The existence of “the residual” has generally been ascribed technological pro-
21. He always the train to the city. ( ) gress, to the possibilities of exploiting economies of scale. ( )
FERIYEARHE BRI (—) 5 3 T (3L 12 70 SETHETE bR HE T AR () 8 4 Tk 12 1)
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Alin B.to | A.in B. on

Cat D. of C. at D. to
. 1 will soon get used to coffee. ( ) 36. He is a teacher of 20 years _ e ( )
A. drink B. drinking A. time B. work
C. absorb D. absorbing C. experience D. joy
. We g0 to the movies quite frequently. ( ) 37. The capacity of a bank to demand deposit money traces to the fractional reserve
A. use B. used to system. (c )
C. are used to Diiaivedlta A. create B. make
. The exam was so difficult that students passed it. ( ) C. bring D. take
A few B e 38. I’ve __ the headache and I need an aspirin. ( )
C. little D. a lttle s B, got
. He us to go to an ordinary restaurant. ( ) C. have D. get
A. suggested Bl st 39. When my boss arrived, he questioned people in the office. ( )
C. limited D. confined A et B
. There are a large number metals which are useful to man. ( ) C.all D. whole
B B. of 40. He is going to a TV tomorrow to see a film about the Great Wall. ( )
B o Dif A. read B. listen
. The expenses should be limited what you can really afford. ( ) Svite opach
A:on B.of B 4| meA]mEA] SEMGELOR)
TEAFHE A,B,C,D B REEHS, HPF -1 2H
C.to D. from B JEHBIRB SN FE, TBRERR.
the problem is well defined,information that might have an effect on it is gath-
41, For example,during the Dark Ages at Europe, the world was perceived as flat.
ered. ( ) A B G;
A. From B. Though 42, All others reserves are called excess reserves.
AL B C
C. How DiOnae
ave changed the pl s s sting.
. There was a knock the door. ( ) 43.1 M%ﬂf_ T‘; plan %ﬁ you MEE‘JH
AEHSEARRERMAA (—) % 5 TGt 12 70) JERHHEEAR HERI A (—) 5 6 T (3t 12 T1)




44, The more she thought about it, the many excited she became.

45. She has made greatest progress than we expected.
A B C D
46. Automobiles, railroads, trucks and pipeline are the principal means of land transporta-
A B (€7 1D)

tion.

47. Nearly every major city of the world provides some form of public transportation.
===t C

48. Buses have been in use on major cities since approximately 1990.
A B C D

49, If you ever visit a major city in other country,you will probably have no trouble getting
B C

around.

D

50. Taxis is convenient if you are in a hurry or if you are taking along a number of suitcases
A (¢}

or packages.

B 4| EEA | mEA
——r—‘——‘ : PSR (4 15 4)

|
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(—)BZREMEER, EEREZTRNZ, (55)

a system of perfectly free commerec, country naturally its
capital and labor to such employments as are most beneficial to each. This pursuit of individu-
al advantageis admirably  with the universel good of the whole. By indus-
try, by rewarding ingenuity,and by using most efficaciously the peculiar powers bestowed by
nature, is distributes labor effectively and most economically; while by increasing
the general mass of productions, it diffuses general benefit,and binds by one com-
mon tie of interest and intercourse, the universal society of nations throughout the civilized

world. It is this principle which that wine shall be made in France and Portugal,

FERNPEEFRE BRI A4S (—) 43 7 TH (L 12 7))

that corn shall be grown in America and Poland,and that hardware and other goods shall be
manufactured in England.

If Portugal had no commercial connetion with other countries, instead of a
great part of her capital and industry in the production of wines, with which she purchases for
her own use the cloth and hardware of other countries, she would be to devote a part

of that capital to the manufacture of those commodities, which she would thus obtain proba-

bly inferior in quality as well as quantity.

51. A. Upon B. Under C.In D. On

52. A. each B. any C. other D. another

53. A. devoted B. devoting C. devotes D. devote

54, A. connecting B. connected C. linking D. linked

55. A. stimulating B. stimulated C. moving D. moved

56. A. more B. much C. many D. most

57. A. together B. alone C. apart D. joint

58. A. determine B. determines C. determining D. determined
59. A. employ B. emploied C. employing D. dismiss

60. A. obliged B. obliging C. liberated D. liberating

(Z)MFRARIC R A SEEE—NEH M. ALER, MEHER, (10 4)

manufacture, divert, cultivate, promote, rather, export, labor,

produce, commodity, require, advantage, exchange, obtain, import

To 61 the wine in Portugal might require only the lal;or of 80 men for one year,and

to produce the cloth in the same country might 62  the lahor of 90 men for the same
time. It would therefore be 63  for her to export wine in exchange for cloth. This 64

might even take place,not withstanding that the 65 imported by Portugal could be pro-

duced there with less labor than in England. Though she could make the cloth with the labor

LR bR HE RIS (—) 55 8 BT 12 T))
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of 90 men.she would 66 it from a country where it required the labor of 100 men to pro-

duce it. because it would be advantageous to her 67  to employ her capital in production of

wine. for which she would 68 more cloth from England, than she could produce by

59 a portion of her capital from the 70 of vines to the manufacture of cloth.

. EEER (%20 )
ABHEFEEL, BREXEEENIE, S/ EEN
I I MMEEENER, WEE - REER,

B 4| FEA | HEA
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Passage 1

Have you ever thought about how important transportation is to the world? Without
transportation modern life could not exist. We would have to get or make our own food, our
own clothes, even our books, newspapers, and mail. Everything that we have come to de-
pend on is brought to us. Even the water that we drink is transported through pipelines from
wells and reservoirs to our homes and offices. We have come to depend on the availability of
three principal kinds of transportation, land, sea, and air.

Automobiles, railroads, trucks, and pipelines are the principal means of land transpor-
tation. Ships, barges, and submarines form the chief means of water transportation, carry-
ing people and goods across (even under)oceans, seas, and lakes, and along rivers big and
small. Without our principal means of air transportation, the airplane, we would have to
slow down our lives and commerce.

Nearly every major city in the world provides some form of public transportation. This
is necessary not only for visitors to the city, but also to provide citizens with low-cost trans-
portation and to help reduce the traffic on streets and highways.

71. It is suggested in this passage that
A. with transportation modern life could not exist

B. without transportation modern life could exist

AR (—) % 9 Tk 12 7))

C. without transportation modern life could not exist

D. without planes moder life could not exist
72. The water that we drink is transported through 5

A. cups B. pipelines
C. bowls D. glass
73. The principal means of land transportation excludes

A. automobiles B. railroads
C. trucks D. ships
74. The principal means of water transportation includes

A. barges B. trucks
C. pipelines D. railroads
75. The best title of this passage is L

A. Automobiles is the principal means of land transportation

B. Transportation is very important to the world

C. Airplane is useful for our life

D. Every major city provides some form of public transportation
Passage 2

Countries which have coal and iron near together have been lucky in developing an iron
and steel industry. This was true in England, the first country to become highly industrial-
ized. It was also true in the United States in the area around Pittsburgh, Pennsylvania,
which was the first major center of the American steel in dustry. Now the iron ore near
Pittsburgh h_as been nearly used up, though there is still a large supply of coal in the area.
Ore with a high percentage of iron, however, was discovered in the Great Lakes region, and

it could easily be shipped from there to Pittsburgh, as well as to Chicago and Cleveland,

SRR HE BT 4% (—) 510 T (3 12 T1)




B,

which are also major steel-making centers.

A steel mill covers a huge area, and is a frightening place to visit because of its great
fires and heat. There are areas for storing the iron ore and coal, and also for the waste that
comes from the blast furnaces. The ore.is put into the blast furnace at the top, and great
cranes run overhead, carrying the ore. when the refined iron comes out of the furnace it is
while hot.

But no matter how frightening it may be to visit a steel mill, we see steel in use all a-
round us. Almost all of our machines are made of steel-railroads, automobiles, typewriters,
sewing machines, the thousands of machines that are used in factories. Our great buildings
are made of steel. Our great bridges are made of steel, and so are the ships that cross the o-
ceans. Steel is everywhere around us. Our modern civilization could not exist without it.

76. is the first country to become highly industrialized.

A. England B. France
C. China D. Japan
(I was the first major center of the American steel industry.

A. New York B. Pittsburgh
C. Washington D. C D. London
78. Ore with a high percentage of iron was discovered in

A. the Great Wall B. the Great Lakes region
C. Pittsburgh D. New York
79. A steel mill covers a huge area,and is a frightening place to visit because of

A. a steel mill’s great fires and heat B. there are many animals in a steel mill
C. there are many troubles in vistting D. we are all strange to a steel mill

80. Almost all of machines in steel mills are made of

A. ore B. water

IERNBERRHE BRI A (—) 11T (3 12 T

= HE 2

C. steel D. gas

& o | WEA | HEA

A ERAFEE(HE 15 5)

(=) TR FERPX
81. Citizens and scholars are today raising a fundamental question: Is economic growth desira-

ble?

82. This type of machines uses three times more fuel oil than that type does.

(Z) BT AFIEREL
83. AT F IR BRI Z 2 fiF.

84, XTI AYFEA SR LL 5 AFRTAEANT 50%.
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1. look after

visible trade

guard a secret

'S

. target audiences

5. replacement cost
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11. Science is the never-ending struggle to find

A. falsehood

C. things

12. From the mid-1950’s to the 1970s, Japan not only

any other time in her history but also did better than any other comparable economy.

A. decaied
C. developed

13. What factors will

A. determine

C. cost

B. people

D. truth

B. declined

D. slowed

B. hesitate

D. find

IERHPETEARHETI A 5 2 1k 12 51)
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much more rapidly than at

the level of investment spending in our hypothetical economy?
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14. There are a host of obvious factors that you would have to

outset.
A. think B. draw
C. take D. put

15. The extra machinery needed to more output.

A. buy B. produce
C. sell D. follow

16. Here we the whole area of technological progress.
A. think B. determine
C. found D. enter

17. Free ports give many
A. advantage B. advantages
D. disadvantages

C. disadvantage

18. The laws governing free ports in some nations vary port to port.

A. by B. of
C. from D. in
19. The music at the party was very loud and could be heard from away.
A. far B. from
C. of D. in

20. Much of London by fire in the seventeenth century.

A. constructed B. established
C. destroied D. pulled

21. Give me a minute to

FERHHE AT A T A ()55 3 TL (3 12 D)

up,and I’ll meet you in the lobby of the hotel.

into account at the

( )
( )
( )

to the people of the port city in which they are located.

( )
( )
( )
( )
( )

A. pay B. settle

C. come D. break

22. This pursuit of individual advantage is admirably connected

of the whole.

A. with B. for
C. from D. by
23, onaminute,and John will see if Mary is here.
A. Make B. Jry
C. Find D. Hang
24. He on the message to his office in New York.
A. held B. laid
C. passed D. put
25. You’ve got to be there on time. I’'m on you.
A. counting B. depend
C. wait

D. sitting
(Z)BEEH(15 &)
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26. The Senator tried to play down his younthful amorous adventures.
A. inportant

B. the importance of

C. importance of D. important of

27 it was very late, we decided to play on until a clear winner emerged.
A. Even though B. Thus
C. How D. Whatever

28. To stay in power,a leader must

IERNACTEBRHE T 04 ()55 4 TU O 12 50
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to play off his opponents against each other.

(

the universal good
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30. I agreed with him

32. The train made a tremendous noise

33. My baby enjoyed outdoors

34. Mr. David looked

A. be able to B. be ability in

C. take after D. take down
29. Tom says that his father is bored his job.

A.of B. from

C. with D. by

what they had said.

A.in B. for
C.on D. to
31. My neighbor is qualified the new post.
A.on B. for
C. with D. as

Al as B. by

C. when D. on

_ the bright sunshine.
A.on B. down
C.to D.in

occasinally to greet someone.

A. like B. for
C. down D. up
35. These things earn money even though no actual goods hands.
A. change B. turn
C. fix D. shake

__ students understand the teacher when she speaks too quickly.

IERKHERHE R 4 (—) %5 5 71 (3k 12 7))

it rushed through the tunnel.

A. Few B. A few
C. A little D. Little
37. I enjoyed in the evening when I was in school. ( )

A. reads newspapers B. to read newspapers

C. read newspapers D. reading newspapers

38. I gave up my plan my father’s pressure. (¢ )
A.in B.on .
C. under 2 D. at

39. My teacher made the decision she had consulted the expert. ( )
A. when B. after
C. as , D.at

40. This is the school we first met. ( )
A. where B. when
C. what D. why

® s |men[gan]| SE#GELOS)
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. The excess reserves from the basis for the banker’s lend activities.

42. A family lived in the small area and confined its activity to a small region.
C

@

. Efficient is essential in the business world.
A B (©) D

4

~

. The one drawback of subway trains is why they are often crowded and noisy.
A B B

45, We have come to depend in the availabilty of three principal kinds of transportation;
C

KERIPEEARHE I 45 (=) 565 6 71 (3 12 77)




land, sea,and air.

46. When you see rocks colored red, they probably contains some iron.
A (¢

47. At other times, people buy products to get the attention in other people.
A n )

18. The store management have some good reasons.
/ C D

49, Manufacturing companies compete for these special display place.
A B ¥C D

50. Consumers may be influencing by an advertisement on television showing a sports hero
A > D

using the product.
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They got tothe  at five minutes of eight. Mr. Becker said goodbye to his wife

and got of the car. Mrs. Becker said goodbye and ____ away. Many other cars

were arriving at the station. People got out quickly and walked the platform where
the trains stopped. At that hour of the morning,a train into the station every few
minutes.

Mr. Becker’s train was due at 7:58. He bought a newspaper and reached the platform
just as the train stopped. It was  time. Mr. Becker got on the train, sat down, and
started to read his newspaper. The trip to the city would ____ about forty minutes. As he
read,Mr. Becker lookedup ~~ to someone he knew. Many people
the same train every day,and they got to know each other.

51. A. staion C. rank

B. place D. standing

JERHPEEARE BT (O 55 7 T (3E 12 71

52. A.of B. out C. to D. in

53. A. driving B. riding C. drove D. rode

54. A. toward B. upon C. lead D. on

55. A. come B. coming C. comes D. came

56. A.in B. on C. to D. of

57. A.make B. made C. take D. took

58. A. customary B. sometime C. then D. occasionally
59. A. greet B. greeted C. meet D. met

60. A. riding B. drove C. road D. driving

(Z) BTG RICHA S ER—MELE. FLER, BEREFN. (1045)

drive, take, railway, place, station, park, shop,

rather, stop, bring, buy, near, by, go

It was about 7:45 on a Thursday morning in October. It was 61  cold, but the sky

was clear. Mrs. Becker was 62 her husband to the 63  station. Usually, Mr. Becker

drove to the 64 himself and 65  the car there. Then he 66  the train to the cit-

y. But today Mrs. Becker needed the car so that she could go 67  in the afternoon.
The Beckers lived in a small town 68 New York. Mr. Becker’s office was in the cit-

ysand he 69

there every day 70  train.

. FEIRAR (2 20 43)
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Passage 1

Subways are mostly found in larger cities, such as New York, London, Beijing, Paris,
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Copenhagen, Buenos Aires, Sydney, and Tokyo. The subway is an underground system of
highspeed trains. The world”s first system was built in London, and trains have been operat-
ing there since 1890. Subway trains move more quickly and efficiently than buses; they will
deliver you to within walking distance of almost any place in the city. They, too, are inex-

pensive and help solve city traffic problems. The one drawback of subway trains is that they

are often crowded and noi

Taxicabs are more expensive than buses or subways, but they will deliver you to the ex-
act location you want in the shortest time possible. Taxis are convenient if you are in a hurry
or if you are taking along a number of suitcases or packages. And as an added attraction,
many cab drivers will tell you stories about their adventures as taxicab drivers or even the de-
tails of their life stories.

If you ever visit a major city in another country, you will probably have no trouble get-
ting around. You will quickly find out about city bus routes and schedules, and about crowds
on subway trains, and, probably, about the scarcity of taxis when you are trying to find one
during rush hours. Like many people, of course, you may come to the conclusion that the

most inexpensive and reliable form of transportation will be your own two legs!

71. are mostly found in large cities.
A. Railroads B. Buses
C. Subways D. Planes

72. The world’s first subway was built in

A. Beijing B. NewYork

C. Shanghai D. London

73. The world’s first subway trains have been operating since

A. 1900 B. 1880

RIS HE B A () %5 9 W (3t 12 7))

C. 1890 D. 1870
74, are more expensive than buses or subways.

A. Taxicabs B. walks

C. bikes D. motors
75. The one drawback of subway trains is that g

A. they are convenient

B. they are expensive

C. they are slowly

D. they are crowded and noisy

Passage 2

A general class of product is differentiated if any significant basis exists for distinguis-
hing the goods (or service) of one seller from those of another.

Differentiation may be based upon certain characteristics of the product itself, such as
exclusive patented features, trademarks, trade names, peculiarities of the package of contain-
er,if any;or singularity in quality, design, color or style. It may also exist with respect to the
conditions surrounding its sale. In retail trade to take only one instance, these conditions in-
clude such factors as the convenience of the seller’s location, the general tone or character of
his establishment, his way of doing business, his reputation or fair dealing, courtesy, efficien-
cy,and all the personal links which attach his customers either to himself or to those em-
ployed by him. In so far as these and other intangible factors vary from seller to seller, the
“product” in each case is different, for buyers take them into account, more or less,and may
be regarded as purchasing them along with the commodity itself. When these two aspects of

differentiation are held in mind, it is evident that virtually all products are differentiated, at

JERHETEARHETI AR () EB107T (JE 12 7))
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least slightly,and that over a wide range of economic activity differentiation is of considerable
importance.
76. What is a general class of product according to the paragraph?
A. A general class of product is differentiated.
B. A general class of product is same.
C. A general class of product is not exist.
D. A general class of product is difficult to find.
of the product.

77. Differentiation may be based upon certain

A. characteristics B. brand

82. The sun is a million time larger than the earth.

(Z) TR FIFERIEL
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C. name

78. The word “features” on the 4th line means

A. patent

C. trade

79. As far as seller is concerned, “product” in cach ease is

D. appearance

B. characteristics

D. efficiency

A. different B. same
C. equal D. identical
80. According to passage, “differentiation” is to products.
A. unimportant B. trivial
C. petty D. importance
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81. The country has doubled her annual output of steel in the last ten years.
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